## www.arbindsingh.com

Imparting education to the world.....

Salh. 29.

Solution of test paper of iit-jee pattern-Paper-01

$$P = \begin{bmatrix} \sqrt{3} & \frac{1}{2} \\ -\frac{1}{2} & \frac{1}{2} \end{bmatrix}, A = \begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix}$$

Here  $P P T = T : P^T = P^{-1}$ 

Now, given that  $Q = P A P^T$ 

$$\Rightarrow P^T Q = P^T P A P^T$$

$$= A P^T Q^{2005}P = A P^T Q^{2004}P$$

$$= A P^T Q^{2005}P = A P^T Q^{2004}P$$

$$= A P^T Q^{2002}P A^2 = A P^T P A^{2004}P$$

$$= A P^T Q^{2002}P A^2 = A P^T P A^{2004}P$$

$$= A P^T Q^{2002}P A^2 = A P^T P A^{2004}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

$$= A P^T Q^{2005}P A^2 = A P^T P A^{2005}P$$

Siny =  $\{4-(x-7)^3\}$  5

32. 
$$f(x) = \sin^2 x + \sin^2 (x + \frac{\pi}{3}) + \cos x \cdot \cos(x + \frac{\pi}{3})$$
 $g(\frac{5}{4}) = 1$ 
 $f(n) = 1 - \cos^2 x + \sin^2 (x + \frac{\pi}{3}) + \cos x \cdot \cos(x + \frac{\pi}{3})$ 
 $= 1 - \left[\cos^2 x - \sin^2 (x + \frac{\pi}{3}) + \cos x \cdot \cos(x + \frac{\pi}{3}) + \cos$ 

Graphs of Sin'x and cos'k are as follows clearly, when n = [0, Sui) [Sin'n] = 0 while[cos'n] >1 nc e [Sin1, 1]  $[Sin^{-1}n]=1$  while  $[Coe^{-1}n]=0$ : clearly [Sin'n] > [cosin] in [Sin1,1] 34. Neng=y+Sin2x, Then dy at n=0 Differentiating both the sides we get eny + n eny [y+n dy] = dy + Singx when n = 0, y = 0 in given equation

35. 
$$A = \begin{bmatrix} 1 & 2 & 2 \\ 2 & 2 & 2 \\ 2 & 2 & 2 \end{bmatrix}$$
 and  $A^{2} - 4A = K I_{2}$ .

Non value of  $K$  is

$$A^{2} = \begin{bmatrix} 1 & 2 & 2 \\ 2 & 2 & 1 \end{bmatrix} \begin{bmatrix} 2 & 2 & 2 \\ 2 & 2 & 1 \end{bmatrix} \begin{bmatrix} 2 & 2 & 2 \\ 2 & 2 & 1 \end{bmatrix} \begin{bmatrix} 2 & 2 & 2 \\ 2 & 2 & 1 \end{bmatrix} \begin{bmatrix} 2 & 2 & 2 \\ 2 & 2 & 1 \end{bmatrix} \begin{bmatrix} 2 & 2 & 2 \\ 2 & 2 & 1 \end{bmatrix} \begin{bmatrix} 2 & 2 & 2 \\ 2 & 2 & 2 \end{bmatrix} \begin{bmatrix} 2 & 2 & 2 \\$$

it is true for any real value of y.

Now,  

$$\chi = -(y+3) \pm \sqrt{(5y-1)^2}$$
  
 $= -y-3 \pm (5y-1)$   
 $= 2(y-1)$ 

Here  $y \neq 1$ , when  $5y_{-1} = 0$ , then maximum and minimum Centural hold  $\therefore y \neq \frac{1}{5}$ 

: Range  $(-00,00) - \{\frac{1}{5},1\}$ 

37. A = [ais] section II

N×n and |A| = 3 given

for n=3.  $(A'') = \left| \frac{1}{(A)} (ads A) \right|$ 

 $= \left| \frac{1}{3} (adJ A) \right| = \frac{1}{3} |adJ A|$   $= \frac{1}{3} |A|^{2} = (\frac{1}{3})^{3} = \frac{1}{3}$ 

L': natrix is forder 3, there fore, if we multiply by & The nature of determinant of that matrix will be multiply by  $k^3$ .

and 
$$|Ad_{5}A| = |A|^{4-1}$$

For  $n = 2$ ,  $|Ad_{7}A| = |A|^{2-1}$ 

38.  $f(0) = \begin{cases} \cos 0 & -\sin 0 & 0 & 0 \\ \sin 0 & \cos 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{cases}$ 

$$f(\frac{1}{3})f(\frac{1}{5}) = \begin{cases} \frac{1}{3} & -\frac{1}{3} & 0 & 0 \\ \frac{1}{3} & \frac{1}{3} & 0 & 0 \\ 0 & 0 & 0 & 0 \end{cases}$$

$$= \begin{cases} 0 & -1 & 0 & 0 \\ 1 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{cases} = f(\frac{1}{3})$$

Similarly,  $f(\frac{1}{3}) = f(\frac{2}{3})$ 

39.  $t_{1} = \frac{1}{3}$ 

Cot  $1 = \frac{1}{3}$ 

Out of the given option, it is clear from the graph tan' n > Cot-1 n hold in [1,10) .. also in [2,00) Cos-1 (n2 - 6n + 8·s) = N3. 40.  $\chi^2 - 6\eta + \frac{17}{9} = \frac{1}{2}$  $=) 2n^2 - 12n + 17 = 1$  $\Rightarrow 2n^2 - 12n + 16 = 0$  $=) \quad u^2 - 6u + 8 \sim 0 =) (n-2) (n-4) = 0$ =) x=2,4 A160,-1 <x2-6n+8.5 <1  $-1 \leq x^2 - 6x + 9 - 9 + 8.5 \leq 1$  $-1 \leq (x-3)^2 - \frac{1}{2} \leq 1$  $-\frac{3}{5} \leq (\gamma - 3)^2 \leq \frac{3}{5}$  $(\chi -3)^2 - \sqrt{3} \leq 0$  $\left( x - 3 + \sqrt{3} \right) \left( x - 3 - \sqrt{3} \right) \leq 0$ =)  $3-\sqrt{3} \leq \chi \leq 3+\sqrt{3}$ 

Interval: Hence 2,4 are Integral Soft Total toward Solution

41 
$$\pm \chi = \tan^{-1} \left( \frac{2}{\kappa^2} \right)$$

$$= \tan^{-1} \left( \frac{(k+1) - (k-1)}{1 + (k-1)(k+1)} \right)$$

$$= \tan^{-1} (k+1) - \tan^{-1} (k-1)$$

$$= \tan^{-1} (k+1) - \tan^{-1} (k-1)$$

$$= \tan^{-1} (h+1) - \tan^{-1} (h+1) - \tan^{-1} (h+1)$$

$$= \tan^{-1} \frac{h+1-1}{1+h+1} = \tan^{-1} \frac{h}{h+2} \left( \operatorname{correc}_{+} \right)$$

$$= \tan^{-1} \frac{h+1-1}{1+h+1} = \tan^{-1} \frac{h}{h+2} \left( \operatorname{correc}_{+} \right)$$

$$= \tan^{-1} \frac{h+1-1}{1+h+1} = \tan^{-1} \frac{h}{h+2} \left( \operatorname{correc}_{+} \right)$$

When  $n + \omega$   $\sum_{k=1}^{n} t_k = tan' \omega - tan'$  $k=1 = \frac{\pi}{2} - \frac{\pi}{4} = \frac{\pi}{4}$  (Corret)

Comprehension Type Section III  $f(n) = e^n$  and g(n) = 3n - 2fog(n) = f (3n-2) = e3n-2 = y (Say) : 3x-2 = 609 et => x= 1 [lugy+2] :. f=(y) = \frac{1}{3} \log y + 2)  $\therefore (f \circ g)^{-1} = \frac{1}{3} \left[ \log n + 2 \right]$ : domain of (fog) - is given by which is true for all nER 1:e (0,00) 43. qofin) = q(e") = 3e"-2 = y (say) .:  $3e^{x} = y + 2 = x - lng(\frac{y+2}{3})$  $f^{-1}(y) = \log_{e}(\frac{y+2}{3})$ =) (90f) = log e(2/2) 44 to 46.  $2n^{12} - n + 1$   $= pn^{4} + qn^{3} + 2n^{2} + 5n + 4$ 

44. Put 
$$x = 0$$
,  $\begin{vmatrix} 0 & -1 & 1 \\ 3 & -1 & 2 \\ 4 & 1 & 3 \end{vmatrix} = t$ 

if  $= 1(9-8)+1(3+4)=8-0$ 

Put  $x = 1$ ,  $\begin{vmatrix} 2 & 0 & 2 \\ 3 & -1 & 2 \\ 4 & 1 & 3 \end{vmatrix} = P+Q+R+S+t$ 

$$\Rightarrow 2(-3-2)+2(3+4)=1+2+R+S+8$$

$$\Rightarrow -10+14=1+2+R+S+8$$

$$\Rightarrow P+Q+S+S=-4-1$$

Put  $x = -1$ ,  $\begin{vmatrix} 2 & -2 & 4 \\ 3 & -1 & 2 \\ 4 & 1 & 3 \end{vmatrix} = P-2+R-S+t$ 

$$\Rightarrow 2(-3-2)+2(9-8)+4(3+4)=1-2+R-S+8$$

$$\Rightarrow -10+2+28-8=1-2+8-S$$

$$\Rightarrow -10+2+38-8=1-2+8-S$$

$$\Rightarrow -10+38-8-1-2+8-S$$

$$\Rightarrow -10+38-8-1-2+8-1-2+8-S$$

$$\Rightarrow -10+38-8-1-2+8-1-$$

from (11) 
$$9+5=9+2-12=-8$$

Compairing heighest coefficient both The Sides  $\rho = -5$ 

from (1) 
$$9 = -1$$
 ::  $S = -8 - 9$ 

$$= -8 + 1 = -7$$

$$\underline{S = -7}$$

## Section IV

$$\frac{47}{5}$$
 Sin (3651x + Sin) at x =  $\frac{1}{5}$  =  $\frac{2-n^2}{k^2}$ 

when n = 3

$$= \cos\left(\cos^{-\frac{23}{25}}\right) = -\frac{23}{25} \left[-\frac{23}{25} \le 1\right]$$

$$\frac{-23}{25} = \frac{9 - h^2}{k^2} \Rightarrow \frac{2}{k^2} - 1 = -\frac{23}{25}$$

$$\Rightarrow \frac{2}{k^2} = \frac{2}{25} \Rightarrow k = 5$$

48. let 
$$f(n) = \begin{cases} 1 + [n] & n < -1 \\ 1n1 & n \geq -2 \end{cases}$$

where  $[x]$  is greatest integer function

Then  $f(-2.6) = 1 + [-2.6] = 1 - 3 = -2$ 

$$f(f(2.6)) = f(-2) = 1 - 21 = 2$$

49. Let  $A = \begin{bmatrix} 2 & 0 & -1 \\ 5 & 1 & 0 \\ 0 & 1 & 3 \end{bmatrix}$ 

$$|A| = 2(3-0) - 1(5-0) = 1$$

$$|A| = 2(3-0) - 1(5-0) = 1$$

$$|A| = 3(3-0) - 1(5-0) = 1$$

$$|A| = (-1)^{1+3}(5-0) = 5$$

$$|A| = (-1)^{1+3}(5-0$$

```
: given that \chi^2 + y^2 = 1 \rightarrow \alpha = 1
51. Since given matrix A is
      Skew Symmetric nortrix. Hence
       dut(A) = 0
      :. \\ \( \sqrt{64-det} \) = \\ \( \sqrt{64-0} \) = 8
         · : f(n) and g(n) are inverse of
            each other =) q(f(n)) = x
         g'(f(n)) f'(n) = 1
 whn x=1, q'(f(1)) f'(1) = 1
               g'(5) \times 4 = 1 \Rightarrow g'(5) = 4
53. tan' (tan 3) = tan x.
                                      ·: 3 \( \frac{1}{2}, \frac{7}{2} \)
      ten ten (3-7) = ten x
                                        3-\overline{\Lambda}\in\left(-\frac{\overline{\Lambda}}{2},\frac{\overline{\Lambda}}{2}\right)
     3-7= to2n.
                                   tan (3-17) = - tan (7-3)
     ta2x>0, But 3-1人0
                                        = tan 3
    i. Equation can not
                                  hold for any
           Value of x.
                                 No. of Solution = 0
             : No Selution
```

54. 
$$\lambda, M, V > 10$$
 $M = 10\pi + 1$  and  $\sqrt{=109 + 0} = 109$ 
 $\lambda = 41$  where  $\lambda = 109 + 0 = 109$ 
 $\lambda = 41$  where  $\lambda = 109 + 0 = 109$ 
 $\lambda = 100 + 100 + 100 + 100 + 100$ 
 $\lambda = 100 + 100 + 100 + 100 + 100$ 
 $\lambda = 100 + 100 + 100 + 100$ 
 $\lambda = 100$